R4 %sX~8rb1ma% 20191 o (Z) $-

B gy A
1. = 4252 = 525 A(L2,3), B(2,-13), C(=2,3,2) » &k H = p & % in? (9%)

2.(1) »EHEF =2xyT +(X®+2y2) ] +(y? +Dk » z23p F £.F 4 %= 32 (6%)

(2) £—HE 3Bd(Xy,2) T BEF=-Vg » EEI(XY,2) 5 7?(6%)

(3) #3* % [F.dr > ¢ Crcosti+sint]+2tk, OStS% (8%)
C
3. L—wHEsm T (t)=(p(t)cost, p(t)sint) » H ¥ p(t)=a(l—cost) * 0<t<2x
(1) #3 5o wa £ o (1%)

() ¥ Hetr e § fdx+ gdy = ”(89 of

)dXdy R f=-ydrg=xkt

'Upﬁﬁﬁ’ ‘iﬁﬁ ° (7%)
() Rz (0a)z > (T%)
4. ¥ RCLZEIABS ‘fr'S LR S et AR A X +yi+2i =10 S,
A2ay=2>S, i¥e S, 5Ta o MCFAEAfBIEELS YA (L00)
(\/2_ %%) P FIE R EY R Cd AR A T B BB T A
REERS
'[(1(2)0)22 udx +vdy +wdz » H ¢ u=y®z® —ysin(xy), v=2xyz’> - xsin(xy),
w=2xy’z (15%)
5. ¢ a3 F=z%"T+xy’j+tanyk 2w 5 S :x2+y’=4-z (0<z<4)
2S,:2=0>T 35S, ~S,2 24 FER:
(1) #% B S, 2 WA > LHNS, ~ S, = (5%)
(2) FEZLHETH? 50mp 2 o (5%)
(B)S, }thE =k B A=? (5%)

@) f(vxF)-ids=2 (5%)
(5) Irﬁ-dF:? (5%)
(6) ”(Wﬁ)-ﬁdA:? (5%)

() [[(VxF)-idA=2 (5%)

Filename: EMI1-2019-mid01s.doc ~ by Y. T. Lee April 25, 2019



Hint:
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